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Dr. Charles Kim Howard University

Lab 2 — Phase sequence determination

How to find a sequence of Phase (ABC, ACB) when there is no marking
Use unbalanced load situation
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Unlabailnced Load
Van, Vbn, Vcn

Balanced Line-to-Line Voltage
Vab Vbc Vca
Van+Vbn+Vcn =0

Unbalanced Line-to-point voltage
C Vao, Vbo, Vco

Vao + Vbo + Vco =\=0
A‘ la+lb+Ilc=0

So there is voltage developed
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Lab 2 — Phase sequence determination
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Lab 2 — Phase sequence determination

How to find a sequence of Phase (ABC, ACB) when there is no marking
Use unbalanced load situation
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Lab 2 — Phase Sequence Determination
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Lab 2 — Phase Sequence Determination
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Lab 2 — Exp Part 2

For light bulbs, for
the best result and
observation, use a
capacitor of 2.2
uF(1200 ohm)






